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1 # IR % A= C+E+F 121,754,608| 121,321,432 140,268,187 A 04 15.6 2.7
(1 # & I B=CE 120,224,664| 119,849,497 139,041,019 A 03 16.0 2.7
7 EEIE C 103,007,238| 102,242,640 105,657,951 A 07 33 0.2
LA 95,597,188 94,985,144 97,361,757 A 0.6 25 0.1
ZEIEIWE D 134,226 103,434 147,238 A 229 423 A 135
14 BEENRE E 17,217,426 17,606,857 33,383,068 23 89.6 13.8
2 % 5 # & F 1,529,944 1,471,935 1,227,168 A 38 A 16.6 16.7
I D S LR FHIEAS 11,407,142 11,301,030 17,581,227 A 09 55.6 8.0
2 % E H G = [+K+L 116,477,930| 117,076,888 132,106,564 05 12.8 23
MBPEEBH H=IK 115,586,996| 116,618,308 130,741,665 0.9 12.1 24
7 EEER | 108,535,546| 109,730,773 121,898,237 1.1 1.1 24
RimEENE 26,980,801 27,393,597 35,808,022 15 30.7 6.4
& # & 2,191,260 2,028,179 2,473,890 A4 22.0 0.4
£ i M 12,144,426 12,541,178 14,792,195 3.3 17.9 6.6
ZREIEER J 174,345 125,230 185,724| A 282 483 A 11.7
14 BEE5ER K 7,051,450 6,887,535 8,843,428 A 23 28.4 1.2
TEEIR 4,966,275 4,484,417 5,768,929 A 97 286] A 11
2 % 5l 8 % L 890,934 458,580 1,364,899 A 485 1976 A 44
RERDSHEBEWKRSE 36,579,803 36,701,578 38,355,437 0.3 45 0.7
3 E K A-G 5,276,678 4,244,544 8,161,623 A 196 92.3 13.0
(1) # & 8\ & B-H 4,637,668 3,231,189 8,299,354 A 303 156.9 8.3
#EEXx W 1,625,538 2,331,790 709,504 434 A 696 A127
BEEEE (C-D)-(1-J) A 5488189 A 7,466,337 A 16,201,800 A 360 A 1170 355
41 ZFBERES 24,371,427 16,412,655 12,495,340 A 32.7 A239] A116
1T & AXAMIRA 22,389,336 22,088,303 32,211,841 A13 45.8 12.3
M & % & 10,644,500 11,490,280 16,790,600 7.9 46.1 135
(2) th=iFHEAS 6,072,302 4,686,302 6,505,137 A 228 388 55
2 EAMXH 47,416,396 48,543,206 66,118,632 2.4 36.2 8.9
(1) BEHEE 25,574,545 27,337,639 36,776,345 6.9 345 10.4
(2) tEEEES 21,724,593 20,858,900 28,097,583 A 40 34.7 6.9
1 FEREHEE 348,235 397,572 456,683 14.2 14.9 17.9
2 ERERES 261,747,514 255,673,790 349,172,910 A 23 36.6 47
3 REHE 140,303,881 141,909,554| 167,008,261 1.1 17.7 38
1E ¥ 54 53 77 A 24 3.1

BERPOEBEH ——
REBLAZEUL-BEY 14 17 13 3 A4l A4
RHEREBEZETHIEEH 16 16 16 A 34
TREBEZETLIEER 1 1 2 1 14.9
1 #BIRF bz 1045 103.6 106.2 A 09 26 05
2 BEINZHE 104.0 102.8 106.3 A12 35 0.3
3 BHEEREKRFLE 416 420 45.7 0.4 3.7 238
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1 BESFEFHHRRE, FHM2FEZTR2IFETRLEHREDOSERTHS.

2 BRHOBIMZLER, BENRILEZFOLEDOMFELKE. MTFERELDESITHS,
BERMRADILEERE

3 HEEEEEKRFLE =

BEAMZIHDILERARE

X 100




